Subtraction of Large Numbers

1. Subtract the following.

a. 3 289 3 138

-2 817 9 21

1 000 0OO

- 28 89 90

2. Find the difference.
a. 4,16,24,748 - 1,87,48,872

b. g 731 2 87

-5 317 3 80

2 000 0 12

-1 382 9 13

-
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b. 38,20,42,086 — 22,29,48,148

-




3. Simplify: 35,43,860 — 96,35,633 - 6,666 + 65,00,444 — 70,495 + 1,199
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4. By how much is 4,16,24,748 greater than 1,87,48,872?

5. An election was contested by two candidates. The winning candidate received

68,75,403 votes and won by a margin of 9,83,516 votes. How many votes did the other

candidate receive?
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